10

1

12

10

" 36mm + 24emm + Sdmm =

5% 51— (480mix 5) = |

g x100=6.5kg

1 mile = 1.6km
=miles = 48km

27501+ 2 =
60% of £2=¢€

097 x 3=
3h50minx6= h  min

%

=
EE

¥-9=

£30+20=

£0.50 x 54 =

Write in words the number

43400. forty thousand fowr hundred
Wh‘&c-h of these is

& asquare number a g

b a prime number? b 37

| 34 35 36 37 38 39

Divide £28 in the ratio 4:3. fi5 __ fiZ

Six taffees cost 90p. Find the cost
of five toffees.

Approximate
z 0.830km to the nearest 100m
4,080l to the nearest %l.

[

How many 8cm lengths can be cut
from a 5m length?

w

bt How many centimetres are left over?
What fraction of 10 is 1%?

Write as a decimal fraction.
219% b 125%

298 seconds = min = s

6 + x +0.029 = 6.03. Find x.

What number must be added to 0.37
1o make 4.577

12 Find the missing 5.3 7 0 kg

*.* mass in grams, —

TR kg
. 4.4 9 0kg

75p

a 2o0m
b LAl
abd
b _dcm
1

8

a1 _b 5125,

10

11

S

20p is saved each week. How long will
it take to save £2.607

A Find in metres the

| 1;33‘m pgnmeter of
¥ this square.

Which of these fractions is equal to
& 125% b 333%7
1 1|

111
2 8 4

Find the difference between 30 x 4p
and 30 times 6p.

WXYZ is a trapezium. Find in degrees

w/; i}_;/mctm@:}x a ZXYZ a
T N bYW b

z Y

Of the 300 peaple at a theme park,
99% went on the rollercoaster.
How many people was that?

Tom was allowed an average of 50p
per day spending money for four days.
Find how much he had to spend

on the fourth day.

2nd | 3rd | 4th
40p | 60p

day 1st
70p

spent

From Aberdeen to Leicester by road

is approximately 700km. Find to the
nearest hour the time taken by a truck
if its average speed is 60km/h.

This scale is taken from a map.
Find the distance in kilometres represented
by a line on the map measuring 3.5¢m.

chofield & Sims

mm

i
w=|||m

] \ ‘
H‘llllft‘U\z‘l||||§\\H‘Hll||||’§”” L

\‘illIIH

{

)

km 5 10 15 20 25  30{

An equilateral triangle has a perimeter
of 240mm. Find in centimetres

a the length of one side -

& the length of one side of a regular

hexagon of the same perimeter. b

From this calendar find
a the number of Fridays in the month a_
b the date of the third Sunday in

the month. b ..

March
Mon 701472128
Tues 81152229
Wed 9|1623|30

1
2

Thurs| 3 |10 [ 17| 24 | 31
T Lo

R

% i Use tbme formula
I O A= tofind
the arez of the

15 6o triangie.

4

A0th

2

Find the difference in grams between

2509 x 20 = kg

. 50g cost 65p. Find the cost of %kg.

L2
2 50

Mental Arithmetic 5 Answers

470 -383 =

765+ 25 =

r . LA

4dm - . mm = 3.180m
30x16=

From 719 a.m. to 8.15 a.m. L min

175mlx 4 =11~ ml

36-9+3=

a 8.5% of £100 a f/.5G
b 123% of £10 b £1.25
£263%4= £10.52

Add together the largest and the smallest
of these numbers.

| 0.099 09 0909 009 |

What percentage is
a 9of 18 ' a_
18 0f 97 b

Write in digits the number which is
ten thousand more than a million.

£2.57 plus £1.36 minus 24p = £ £3.69

iad
i
L5

Write 20 thirds as

]
=1

o

a animproper fraction

REHN]

T W
e

b a mixed fraction.

Find the area of a parallelogram with a
base measuring 17¢m and height of 5em.

Find % of 70. Write the answer to the
nearest whole number.

How many 650g packets can be made
from 65kg?

Write as a decimal fraction.
3 3
)

€35 afis b Gix

1% of 19kg and 1% of 20kg.

ncrease £2.00 by 16%.

LB 0%
200%

1010009

A

_ B5am?

™
=
e

o]

A1

A television licence costs £150 per year.
How much is this per month?

ABCis a
right-angled
triangle.
Find its area.

By how much is the product of % and

3 less than the sum of % and 3?

A 2%[ container is "173 full. What decimal
fraction of 1Lis reguired to fill it?

A plan is drawn to the scale of Tmm to

50cm. What fraction represents the scale?

From: this bus

Broton | Cant |Witton| s
- : : timetable find
19717 | 2114 | 23:56 | e time
taken from

a Broton to Cant
b Cant to Witton
¢ Broton to Witten.

3F

A new pane of
glass is to be
fitted into this
square window.

a In how many
different ways
will it fit
without the
glass baing
turnad over?

b How many lines of symmetry
has a sguare?

Find the missing numerators x, y and z

in this set of equivalent fractions.

3 6 x 32 ¥y 2z
{5. %0, 5. 20, 25, 30

The triangle

is equilateral.
Find in degrees
the measurement
of £ xand £ y.

Write the value of each:

ale-10+2+1=
b (16-10)=(2+1) =
c (16-10)+2+1=

The price of %kg of carrots was increased
from 30p to 36p. Find the increase as a
percentage of the original price.

Round the sum of money to the nearest.

a £19.87 x 19

b £12624+9

£ri250 7

i
L

o

N e
e

fat
el

a2

£ and then find an approximate answer.




